AP Calculus
Technology Tuesday #4 Calculator Solutions
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find the length of a side,

the area of a square is the side squaredI
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wait time per person units are TIME/PECPLE
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y=-2x+k is the tangent line, the slope is -2

want the slope (derivative) =-2 at x=7

d 3
solve(—(Q'x2—8-x+14)=-2,x) X==
dx 2
"
3.1 141 |42
the tangent line is equal to the equation at !
x=3/2, plug in x and solve for k
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the slope of the normal line is 1/5 so the slope
of the tangent line is -5
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when x is 0 (from the point (0,3)) and the
slope 2ax+b=-5 what happens?

2%a*0+b=-5 -> b=-5
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only one answer with =5x I
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to find a and ¢ we use the original equation
plugging in b, (0, 3) and (1, 5) to create a
system of equations
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to solve the linear system menu->algebra-
>solve systems->solve system of equations
using 2 variables, a and c. for the first
equation plugin (0, 3) and the second plug
in(1,5)



